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You walk from one !,mow to another place. When v\oc
arrive at your mwmﬁgﬁo?,_%@ aistance you have traveled
- will mgm%m be:

A) greater Ems |
B) equal to

O mBm:Q, than
D) either greater than or eqt m_ :
E) either sma’ HQ, than or equ

YOUI displacem ent from yOou:



> 22 m/s. How farv
L - . to %3 M
- (Gven: S=d.22m/5

vill vou

What principle and e
distance?
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to Er id, a distance of
o &,2@ from mEm |

2) <§§ was %oE. ave mo ,1 a m.oB Zo. nan to Enid?
b) What was %o r aver | fr id to Stillwater?
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Ben leaves his home and walks to the bank, tt
home in a total of 30 minutes. What is his average speed?
Ben's home

bank
park ank

—

east

west

T Zblcks | 2 blocks ~
A) 0 blocks/min
B) 1/3 block/min
~C) 1/6 block/min
‘D) 2/15 block/min
E) 10 blocks/mm-



~ Interactive Question

Can the average speed ever be the same as the
instantaneous?

. A) No.
B) Yes, it is always the same.




- Interactive Ques

* Which of the following is a vector quantity?

A) The age of the earth.

B) The mass of a football.

C) The earth’ s pull on your body.

D) The temperature of an iron b rma

E) The number of people attena
game.
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Interactive Question o @

Vectors A and B are shown. Which vector best represents
A+ B?
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Vectors A and B are shown.
A+ B? | |
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Interactive Que
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“ Which diagram below correctly shows the vector C,
where C = A + B o ; |




